Attempt ......... questions

' The smallest bone of the human body is:

(a) Stapes
(c) BothA&B

(d) Malleus

Class:10th
Test:Biology

(a)

Ut

(c) AnD Ush

? Which scientist wrote three books ophthalmology:

> If a new born baby feeds on mother's milk as

(a)Ibn haithum (b) AliIbnIsa (a)
(c)Gregor mendal (d)Andrias De valies
3 The inner layer of eyes
(a)Sclera (b)Chornia (a)
(c) Retina (d) Choride (©)
4 Which part of middle ear separates it from inner
ear?
(2) Stapes (b) Ear Drum (2)
(¢) Tampanum (d) Oval window ()

result of which production of mother's milk will.

(a) Will descrease

(b) will increase
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(c) willend (d) will continue with intervals, “{¢) Jngﬁf}

® The Neurons which contain one dendrite and

are called:
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(a) Motor
(c)Sensory (d) Mixed (©) Vel d) &

’ Spinal Cord is the continuatien of: _‘LJ'D L7
(a) Medulla Oblongata (b) Frontal Lobe (a) K@'J;U, oy j&f (b) Kb’,)‘j‘&?

(d) Hypothalamus (c) Ku’:#/ (d) KJ"% L
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(¢) Thalamus

8 Which one does not act as effector:

(a) Liver (b) Nephrons (a) /g (b) K
(c) Barin (d) Bones ©) Lo @ ULk
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